	Section
	Homework Problems
(In the form #14(answer)    )
	

	2.7
	#7 (see back of book)
#9 (see back of book)

#11 (see back of book)

#13 (see back of book)

#14 (c)

#16 (j)

#18 (k)
	#27 (see back of book)
#29 (see back of book)

#30 (see graph of 
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#31 (see back of book)

#33 (see back of book)

#34 (see graph of 
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	2.7
	For each of the problems to the right, you're asked to draw the graph that corresponds to the given equation.

You can check your work using your graphing calculator ; you should make sure that you can explain how each part of the equation affects the graph.  So for y = x2 + 2, you should be able to explain (in clear English) that the +2 shifts the graph up by 2 units
	#35 (see back of book)

#39 (see back of book)

#41 (see back of book)

#47 (see back of book)

#49 (see back of book)

#54 (see calculator)

#58 (see calculator)


_1239398815.unknown

_1239398549.unknown

